1. R |8 & B

e 8 2 & 0 & K

R ®# :# =

D ELY

e = 22 % B |

A BEREBITESE167EN2E11E F1E ORTEITEIKHEEZY

L EBEEEH | THOBREEERE
2.ZH AN B
2 #H % F & | anviEFNE

RHEXEDOEFR

BARTEEBF THEBS-T7

?:%0)%%

BEEREEE CRE/NFER)

Bz )
Gemcmn e | BXTLXEIER
I$®*§ﬂ”%ﬁi& 4E 4 JH
C m @ ) | HEE
I = 0o # = EEH1EDEER

(2 H o 8 %)

BHEETAEH (RO2-R06EF)

(B 7 om p o) | TH2ZF4AIR
(I quﬁ (,Eﬁ Eﬁﬁ ; SHTEIA3A
BEH 23,500 .7 A (FHithE)

(5EH#2%E) 1,551,000 M (FiiAH)

INTA—T AR
(17 ARR)

£/40 1,500 #%
Hh5— 10 %
6,030 [ (feik=)

( ) IFLSMREIEZHDIGE




L |

%T

=
=

(B M)
% £ REnTER F e itk (Bidk)
BT LS ORI/ 712 N ) " i 23500 M
SF243A16H 14285309 NT e 2 6,030 m
) 29530 m
1T () 3mAT 8 1T FRAS TR 4 (Bitk)
AT LGP A - z
:15; g 10 BEE 224 % g s g1 0 e s
% 1EH e = IEH _ £
= S RILBFH &% (Biik) £%5 (Fith) = S RILBFF S (Bitk) 5 (Fiik)
R 26,000 R 26,000
1| () v~ NI p—=2 v 2f} 11,850 9 (B =% NI = At 11,850
at 37,850 at 37,850
R (RIS R 21,000
2 | CB) NN 5 NI p—=2 v 2f} 10 | () TV ARE U RA  (INT A=<V Ak} 12,050
&t at 33,050
R 26,000 R
3| (R A~ ~ B NI F=<V AR} 11,850 11 NI F=<v AR}
7 37,850 7t
= TR R
4 | (BR) =K — NI =y A} 12 NT =2y 2B}
it it
= TR R
5 | CB) A ERaGL NTF—<v At 13 N7y A
it it
= 23,500 R
6 [NV UE T N7+== 28 O 6,030 RgRE | 14 NT k=< A
7 29,530 7t
Bt 30,000 e
7T BRIV F NI F=V Ak} 12,050 15 NI F== Ak
7t 42,050 7t
e TR R
8 | (BR) A=) NI p—2y R 16 NI F—2y At
it At




